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Rabi Eliezer maintains, Yesh Aim L’masores

Overview’
Moo continues to explain (according to *"w19) the view of X"1. Our nNwOIN takes
issue with *"w75 and offers a different X07°3 and interpretation.

= 47992 AN2IY 1Y NN 12 PYY INT 1994 VD 1390 YNRYN 177953 11X223 N5 XY
X"9 maintains N7017 oX v°, and since it is not written 'v73°23' (with a 7"y, which
would make the reading and writing to mean ‘his garment)’, this indicates that it
is an expression of betrayal, for if it were an expression of a garment, it should
have been written with a 7''y.

Mmoo responds to an anticipated difficulty:
- 53195105 YT DIVN 1957 *1795 XYA 11123 IIWONM ‘o muxa) 23NIT 23 Y N

And even though it is written, ‘and she grabbed him 17323 (by his garment)’
without a 7''v, that does not present a difficulty; there it is written without a 7",

because we cannot err to think it means anything besides a garment. This concludes n1von
interpretation of >"w11.

nooIN asks on >"wAD:
= 47952 Y1)%22 2PN XY NTa 11\’)5 NNONIVY PTI9N DY

And there is a difficulty; how does X" infer that the n9o% is an expression of

betrayal, since was not written Y73°22 with a 7''y -
- 7y7912 11123 203 X1 YO N9 PYY NINY PIT) NIYTINT

" The "w1mm comments that this MdON is a continuation of the previous 113 i1"7 '0I0 (not a separate '01N).

% See ‘Overview’ to the previous 73 77 ‘oM.

* n7onb ox w° means we understand the 7109 the way it is written (spelled), not the way it sounds (read). The word
17322 without a 7"v spells 17322 (betrayal — 7xmp '27), for if you wish to spell ‘his garment’, it should be spelled
17322 which places a p>7°11 under the n"2 (since it is followed by a 7"7).

* 20 P09 2w reads; "W HRY 1322 MYOOM.

> How can we say that the nmon of ‘his garment’ requires a 7', for her we see that 17322 without a 7" means his
garment?!

% See a similar (question and) answer in the previous 112 71"7 ‘00 [TIE footnote # 15]. There is no other interpretation
of 17322 yiwsnny, except for ‘his garment’ therefore it was not necessary to be that precise, however here since it can
mean either garment or betrayal, if it meant garment, it should be spelled 173°22 to avoid any misconception.

7 The spelling of 17322 is ambiguous it can mean garment (77177 '277) and it can mean betrayal (7%p '277). However
just as you can argue if the 770 means garment it should be spelled 17322 (with a 7"1"), we can argue the reverse; if
the 771N meant betrayal it should be spelled 172122 (which is the present tense of betrayal) in order to avoid any
misconception.
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On the contrary, let us infer that it is an expression of ‘spreading out the
cloak’, since the P05 did not write 173123 with a 1''"!

mooin asks an additional question:
- “nwan MmN THa 51775 N9Y 17795 XY AN M9 PNRT M

And furthermore it is not usual to write neither a 7''Y, nor a Y''" within the
letters of the root. mooin does not answer the questions on >"w.

mooin offers a (second) explanation according to this X077
= 1123 YAWANM 199 5DV NI PYHY YHRWN INT RIPNIY Yy AN

And it appears that the explanation is that the reading (x7pn> oX v°) certainly

indicates an expression of nv>v ne"p, similar to 17322 ¥TWENNY, where it definitely

means a garment, so here too the reading indicates a garment -
= Y1522 MIPY MR NN NN PV INT

For if it is an expression of betrayal it should have been read 173232 (7xwp 'a7) -

= 1A Y122 XD 7%0Y 11522 29N3D 1D 79N 5DV NI NPYY INT N3 PYD NN HNONN YaN
However the nmwen (the spelling) is an expression of betrayal, for if it is an
expression of ‘spreading the n"»v’, it should be written 755 17332 (when he
spread his garment over her), but not 573 Y7322 (when he spread his garment in her). The

phrase 712 17322 lends itself more to the interpretation ‘when his betrayal was in her [life]”.""

mooin is still not satisfied:
=929 PNV MYIIN 139 929D NAYPY 229 Y927 DY1PNY XN 797 PRT 0N 192390 NYP 1191

However the n''s has a difficulty with this X0, for it is not the manner of the X=m3
to mention first the words of ¥''™ before the words of X'' who was the teacher of y" -

mooIn offers a new Ro7°a and interpretation:
= TN 249 99347 NIY INDV YIIY 11D 121)’0‘1)‘1 0N 199399 NN 799

Therefore it appears to the n''s (a third interpretation) that we are ©713, ‘once he

¥ See “Thinking it over’ # 1.

° The word 795 here means function; the letters that make the word functional. The letters of ‘a garment’ in W7
WP are 733, so even when it takes the form of ‘his garment’ 17322 we do not interpose other letters for vocalization
within the root letters. Therefore there is no proof that 17322 means betrayal, since it has no 7"1, because a 7"1> has no
place in 17322. See X"w1nn for an alternate explanation.

' In this w5 our ') agrees with >"w" regarding the X073, however he disagrees with *"wA regarding the inference
of X"7 that 17322 means betrayal (where >"w7 explains the inference that otherwise it should be spelled 173°23;
however, Mo01n offers an alternate inference).

"' See “Thinking it over’ # 2.

2 The n" reverses the views of ¥"™ X". However he agrees (with >"w9) that X"7 maintains nMon? oX ¥ and ¥"9
maintains XIpn? ox .
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was 199 1oy wa'e he cannot resell her, these are the words of X' -
=92 72V 112 9N R*PY a9

And »''1 says, once he betrayed her he cannot resell her.
= Y1995 DYDY NAPY 229 59390 PRTIP ITYON 2329 9927Y RNYN NN

And now it is proper for the words of X''2 precede the words of ¥''s who was

his student -
= 590 NUYID NMNT 1N 11\’)3 7 MO NNDNY ON Y 930 ITYIYN 229 IV YoM

And this is the explanation; X''% maintains nme»b a8 w°, and the n71e2 is that

17222 is an expression of a garment, which means n°»w no 5. X" infers this -
- 17993 3522 I8 17992 11922 2905 N9

Since it is not written 1722 with a 1'% or 17a%22 with a 7', which would have been
the appropriate way to spell it if it meant 777°33, in order to avoid confusing it with ‘a garment’.

Mmoo responds to an anticipated difficulty:
- %5999 X997 ©IWN 13990 1753 AN5 NY IWNWAT 23 YY 9N

Even though that by yw»w2 it is not written with a v''>, nevertheless there is no

difficulty, that is because there is no room for a mistake there.
= 7792 YWY 139N NIPNY OX VI 910 NPy 229

And »'' maintains Xp»» ax wv, which means that 17322 (3P0 '27) is an

expression of betrayal -
= 73250 25A1) 1723 133 39 1132 VAN 133197 17323 19905 1Y NN X2 PYY INT

For if it were an expression of a garment, it should be read Y7322 ( [7°1w7] 27
77130), because from the word 7a2 (with a 130) we should say 1732 (7210 '277), just

as from 731 (77130) we say 1731 (72130 1"1177) and from 291 we say 1297 (72w0 n'onn).
Since we do not read it 1722 (72130 '277) as it should be read if it means garment, but rather we read

" See the 0"~mm "wan who explain that this is not in contradiction with '01n question previously (see the text by
footnote # 8) on >"w1 that 721997 NPMIR TIN2 1" XYY 7" KD 202D M0 PRT 7. Previously the simple meaning of
17321 is a garment (like 17322 17wanN1), however X"1 wanted to infer that it is not a garment (but rather betrayal) since
it is not spelled 17322 (with a 7"17), mpoIN asks (on *"w7d) that it is no inference since it is not usual to insert a 7"v
72wan nPMR2. However here where X7 maintains that 17322 means garment (which is Rpn Yw ww» as just
mentioned), for if it would mean something other than n"wws, i.e. betrayal; the 770 would have spelled it
differently. See X"win for an alternate explanation.

' The %"w1mm amends this to read 171322 (instead of 173°22). [He would seemingly also omit the "7"1°2".]

15 Why did we just state that if 17322 (7¥%p '27) meant 77°32, there should have been a 1"", we see that the 77N writes
Wwawa (7Xmp 1" wi) without a 1", (See footnote # 6.)

'® Whichever way you write Wwnwa it will only mean hearing; however here depending how it is written, 17322 can
mean a garment or betrayal, therefore if the 7710 meant betrayal it should have been more precise (especially since
n"wwoa the word 17322 means a garment).

7 We cite here the words of the 1"2m1, who states; () ,7T2 27 * MYY? IR TR, 1719 DWW *HIR 777201 KD 9T DR
59y . avvan M by .
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it 1732 (7PN '27), it must mean betrayal.

mooIn responds to an anticipated difficulty:
- By9109105 X9 BN 17123 XYY 11323 1IN 135977 23 YY GN)

And even though we read 17323 y1wsnn (with a 721717 '2) and not Y7323 (with a 2

7910), that is not a difficulty, since there can be no mistake there that it does not
mean a garment, however here where it can also mean betrayal the reading should be more
precise.

mooin offers a fourth explanation (which follows the first [s""w7] &07%):
= 9799299 12999) NTY> NY 9UN Yar5194 nna DIWA91 Y

And others explain that the dispute whether X1p»% aR w° or nMonY is regarding

this which is written, 777> XY "wR' (with an 7"9X), but it is read Y» with a "'

(but it is not regarding 17322) -
= 179127 939907 NIPNRY ONX Y2 920 XPY *H

Y''" maintains X p»® ar @ for it is read Y2 with a 1''> (which means he was 7v>» her
1% for himself) -
- Y90 N9 T2 PYY NINY 11133 Y¥ N9 ROYWM

So now the 12 reveals that 1732 is an expression of n»w noI1s, for he was 7v>n her -
$NT9X PYUY NINY 11X32 HY 19 NOYM 97983 XY 2919 HDNY ON YW 920 IMYIHN %29

However X''M maintains nm1e%> ax @ and it is written X» with an n'"™»8 (which
means he was not 7v>» her), so now the X7 reveals that 1732 is an expression of
betrayal (for since he was not 79 her, it cannot mean %y 1n°0 09).

Summary
All agree that Y'Y maintains RXpn? oX w° and X" maintains NMON? oX wo.

According to three explanations in '0In it is ¥"1 who maintains 1R MIdOWS 77917 PR
muoX (either because 17322 means garment or we read 1?), and X"2 maintains 7°X
MY nR Mnow? 7191m (because 17322 means betrayal or it is written X?). One
explanation is the reverse; X"J maintains MW°R MR MAOYYH 7721 PR (because 17322
means garment) and ¥"9 maintains MY IR MAOWH 7791 PR (because 17322 mean
betrayal).

Thinking it over
1. Why does m»oo1n mention that it is not customary to insert a 1",* since that is

'8 See footnote # 6 & 15.
"% 1,x0 mnw reads, 72 17322 71919 W XY 2123 ayL 797 ATV (7] XY WK P38 rY2 Y7 o
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not contradicting the view of X"9;”" it maintains his inference?!

2. mdOIN interpretation that the inference of X"7 is from 72 17322 (instead of 17322
9),%* does not seem to have any connection to NTON% OX W (or X1PAY).

%0 See footnote # 8.

*! moon asks that seemingly we cannot support X" from the fact that it is not written 173°23, since we do not insert a
7"1; however we cannot refute X"9 (as Ndo1N wanted to say) since it does not state 173123, for we do not insert a 1.
Not inserting a 7"1> does not support X", but not inserting a 1" does not allow us to contradict &"7; however NM»oIn
puts them together as if both of them do not support X".

2 See footnote # 11.

5
TosfosInEnglish.com



